Attica Intermediate Classical Greek

Exercise Four Key

L Form Identification. Identify the following forms. List all possibilities.
1. Yvovtec: nom./voc. pl. m. aor. act. part. of yiyvwokw
2. aioBavaueda: 1st pl. pres. mid./pass. (deponent) subjunc. of aicO&vouat
3. evonoete: 2nd pl. fut. act. ind. of eVplokw
4. eldotac: acc. pl. m. perf. act. part. of olda
5. éomeloato: 3rd sing. aor. mid. ind. of omévow
6. dvvaoOn: 3rd sing. aor. pass. subjunc. of dVvapat
7. KQTNYOQwWV: nom./voc. sing. m. pres. act. part. of katnyopéw
8. PLAGExTOaL: aor. mid. inf. of puA&TTW
9. owdovrte*: 2nd pl pres. act. subjunc. of cwPpooviéw
10. nemEaryHéva: nom./acc./voc. pl. n. perf. mid./pass. part. of moattw
11. avapvniow: 1¢t sing. fut. act. ind. of avaptpvriokw
12. elmv: nom./voc. sing. m. aor. act. part. of eirtov
13. amodetyOnvatl: aor. pass. inf. of dmodeikvout
14. owBeic: nom./voc. sing. m. aor. pass. part. of ocd)lw
15. eldnte: 2 pl. perf. act. subjunc. of oida
16. vévotto: 3+ sing. aor. mid. (deponent) opt. of yiyvopuat
17. évvorjoate: 2nd pl. aor. act. imperative of évvoéw
18. BovAwpeBa: 1st pl. pres. mid./pass. (deponent) subjunc. of fovAopat
19. vnotépou: 31 sing. aor. act. opt. of VmoTépuvaw
20. meodidovta: nom./acc./voc. pl. n. pres. act. part. & acc. sing. m. pres. act. part. of
TEOdIdWL
* owdowvnte in textbook should be cwdgovite
II. Dictionary Drill. List the dictionary entry and meaning of each of the following words. You

may use a standard lexicon or the dictionary in the back of this textbook.

1. elodvtac: eloetlt, ---, ---, ---, ---, --- (€ipLL); enter
aveAéoBal avaléw, Avalerow, AVEIAOV, AVI)ONKA, AVIENHAL AvneéOny; retrieve
bodies for burial (mid.)

3. fjoBeto: aiobdvopual, aiobrjoopat, odouny, -, Nodnuay, --- ; perceive, learn

4. adavég: apavrg, -€¢; unseen, invisible

5. ATIOAOHEVOG: ATIOAAV UL, ATIOAQ, ATIWOAECTA/ATIWAOUNV, ATIOAWMAEKA/ATIOAWAR, ---, --- ;
destroy, kill; perish (mid.; pf. act.)

6. aflwbnvat a&ow, alwow, Nélwoa, NEiwka, NEiwpal NEwONV; think worthy; think
worthy of (+ gen.); think <someone> worthy <to do something> (+ acc./inf.)

7. duoTLXODVTAG: DLOTLXEW, DVOTLXINOW, EdLOTVLXNOA, DEdLOTUXTKA, ---, EdVOTLXT|ONV;
be unfortunate

8. owoat 0@lw, cWow, écwoa/éowoa, céowka, CEowal/oéowoual, E0wONV; save

9. @xovto: olxouat, olxrjoopat, -, ---, -, - ; be gone, have gone

10. Epaoav: Pnui, drow, Eépnoa, ---, ---, --- ; speak, say

11. ATIOAWAEVAL ATIOAAVHL, ATIOAQ, ATWAETA/ATIWAOUN Y, ATIOAWAEKA/ATIOAWAR, ---, --- ;

destroy, kill; perish (mid.; pf. act.)
12. deioacBar Ppeidopal, deloouat, épetoauny, ---, ---, --- ; spare (+ gen.)
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III.

Iv.

13. oLVOVTAG: CUVOVTEG, -OVTWY, OL; associates, comrades (or, cUVeLUL, CLVETOUAL, ---, ---,

14. EATIdaG: EATG, -(dOG, 1); hope

15. XELHQVOL: XELUWYV, -0OVOG, O; storm

16. kateokevale: kataokevalw, KATAOKEVATW, KATEOKEVAOXK, KATEOTKEVAKA,
KATEOKEVAOUAL, KATeTKkeLATONV; prepare, establish

17. petaotnoat pediotnp, petaotow, petéotnoa (trans.)/petéotv (intrans.),
pedéotnra, pebéotapat, peteotadny; change

18. oUVKOPAVTAG: OLUKODAVTIG, -0V, O; sycophant, informer

19. no&aunv: aoxw, aglw, nofa, Noxa, Noyuat, joxonv; begin, make a beginning of (+
gen.), be the beginning of (+ gen.); rule, rule over (+ gen.)
20. OmAe: OTMAIlw, OTAIlopal, OTALO, ---, OTIALOHAL WTAIoONV; arm

Accent Drill. Place the correct accents on the following words and justify your choices.

1. ntavoat: First aorist infinitives take their accent on the penult. Since the penult is long
and the ultima is short, the accent must be a circumflex (R1.3.3.3).
2. opoAoy@: Contract verbs are accented according to where the accent falls on the

uncontracted form of the verb. If the accent falls on the first of the two contracting
elements, the resulting accent will be a circumflex, as here (6poAoyéw).

3. éetvot: The accent of this pronoun should fall on the penult because of its persistent
accent (R1.5). Because the penult is long and the ultima is short, the accent must be a
circumflex (R1.3.3.3).

4. aoxac: Nouns take persistent accent (R1.5). This noun takes its accent on the ultima.

5. otpatrnyovs: Nouns take persistent accent (R1.5). This noun takes its accent on the
ultima.

6. vndyeoBau The accent of a present middle/passive infinitive is on the antepenult.

7. gyryvwropev: Verbs take recessive accents (R1.4). Because the ultima is short, the
antepenult may be accented with an acute accent (R1.4.1.1).

8. amoAoyovpevog: Contract verbs are accented according to where the accent falls on the

uncontracted form of the verb. If the accent falls on the second of the two contracting
elements, the resulting accent will be an acute accent, as here (6ploAoyedpevog).

9. katavorjoete: Verbs take recessive accents. Because the ultima is short, the antepenult
may be accented with an acute accent.
10. tovtou: Pronouns take persistent accents (R1.5) and this pronoun takes an accent on its

first syllable. Because the ultima is long, the penult, which is also long, must be accented
with an acute accent rather than a circumflex.

11. eivat A long penult, if accented, must take a circumflex when the ultima is short
(R1.3.3.3).
12. &oxnc: Nouns take persistent accents (R1.5). This noun takes an acute accent on the

ultima in the nominative singular and thus is an oxytone. The accent changes to a
circumflex in the genitive and dative, singular and plural (R1.5.4).

Translation Strategy Practice. Each of the following sentences expresses a condition (R10).
Determine what type of condition each sentence expresses before translating it.

1. €av moAAol oLAAey@OLY eic TV MOAW kal tov [Tewpaw, Battov TV émtndelwv Evdeta
¢otat. Condition: Future More Vivid (R10.4)
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If many people assemble in the city and Piraeus, there will be a need for supplies more
quickly.

2. el moAAol tote ovveAéyovto elg TV oA kai tov [Tepalx, Oattov twv Eémtndeiwv évden
fv. Condition: Simple Past (R10.2)
If many people were assembling in the city and Piraeus at that time, there was a need for
supplies more quickly.

3. el moAAol oLAAgyelev eig TV TOALY kat Tov [Tewpawx, Oattov v émitndeiwv évdelx in
a&v. Future Less Vivid (R10.4)
If many people should assemble in the city and Piraeus, there would be a need for supplies
more quickly.

4. el moAAol ovveAéyovto eig TV TOALY kat Tov Tepaix, Oattov twv émrtndeiwv Evdela v
av. Present Contrary to Fact (R10.5)
If many people were assembling in the city and Piraeus, there would be a need for supplies
more quickly.

5. el moAAol ovveAéxOnoav eig v oA kai Tov [Tewpaux, OatTov TV mtndeiwy évdela
éyéveto &v. Past Contrary to Fact (R10.5)
If many people had gathered in the city and Piraeus, there would have been a need for
supplies more quickly.

V. Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. €0V owPQOVOLTE, TOUTOL TOL KAKOD oL pelogatode av.
If you should be wise, you would not spare this evil man.
¢PpeloaioBe: 27 pl. aor. mid. (deponent) opt.; apodosis of a future less vivid condition
(R10.4)
2. ot AOnvaiot eimov 6Tt TIvEg €v Tr) dnpokpatia amod ovkopavtiog Lpev.
The Athenians said that some people in the democracy were living from sycophancy.
Tvég: nom. pl. m. indefinite pronoun; subject of Conoav (opt.)
3. eloOVTAG el TV TOALY TEéoBelg OXAOG TteQLeXELTO TOAVG.
A large crowd surrounded the ambassadors as they were entering the city.
eloovtac: acc. pl. m. pres. part.; circumstantial participle modifying moéofeig (R6.2)
4. 0 Onoapévng évopLle TOUG TOLAKOVTA VO TA EVAVTIOTATA TMQATTELY, BLlory TE TV
GOXTV KAL TJTTOVA TV AQXOUEVWLV KATAOKEVALOUEVOUG.
Theramenes thought that the Thirty were doing two most opposite things, by preparing a
violent government and one that was weaker than those being ruled.
TMEATTELV: pres. act. inf.; infinitive in acc./inf. construction of indirect statement set up by
évoule (R7.1)
5. tolg Aaxkedatpoviols, @ ABnvaiot, pirol yryvwpeOo,
(O) Athenians, shall we become friends with the Lacedaemonians?
Yryvawpeda: 1st pl. pres. mid. (deponent) subjunc.; deliberative subjunctive (R8.2)
6. gav Tiva aloBavwpeda évavtiov ) oAryagxia, ékmodwv moovueda.
If we (ever) perceive that someone is opposed to the oligarchy, we get rid of him
(literally, “make <him> out of the way”)
aloBavwpeda: 1st pl. pres. mid. (deponent) subjunc.; protasis of a present general
condition (R10.3)
7. el KATAvVoolte, EVEOLTE AV OLDEVA Péyovta HAAAOV BnoapLévoug.
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10.

If you should consider <this>, you would find that no one is censuring <us> more than
Theramenes.

eOpotte: 20 pl. aor. act. opt.; opt. in apodosis of a future less vivid condition (R10.4)
) Votegaia Tpéga ot ABnvaiot EkkAnoiav émoinoav, év 1) €dofe tovg te Ayévag
ATOXWOAL ATV €VOG Kal T& Teixn evtoemiCety.

On the next day, the Athenians called an assembly in which they decided (it seemed best)
to bank up the harbors, except one, and to prepare the walls.

amnox@woat: aor. act. inf.; complementary infinitive with €do&e (R5.3)

Kat &y Kot o0 MOAAX TOD AQEokeLy éveka Th) TTOAeL eimopeV Kat EmQaapey.

Both I and you said and did many things for the sake of pleasing the city.

doéoxewv: pres. act. inf.; articular infinitive (R5.2) used as genitive object of the
preposition évexa, whose object always precedes it

toig Aakedatoviols, @ AOnvaiot, ¢pirot yryvwueda.

Let us be friends with the Lacedaemonians, (O) Athenians.

yiyvowpeda: 1st pl. pres. mid. (deponent) subjunc.; hortatory subjunctive (R8.1)

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what it is incorrect, and write a correct translation.

gorv Avoavdog 1dn tiva ov dAAov ABnvaiov, anoméppet ig tag AOrvac.

If Lysander sees some other Athenians somewhere, he sends <him> back to Athens.

Correct translation: If Lysander sees some other Athenians somewhere, he will send
<him> back to Athens.

Error: droméuetis in the future (not the present) tense in the apodosis of a future more
vivid condition (R10.4)

ot totakovta jeEavto BovAeveaOal 6Twg Eotat avTolg 1) TTOAeL XoNoOoatL.

The Thirty began to plan how to use the city.

Correct translation: The Thirty began to plan how it would be possible for them to use
the city.

Error: éotat avtoic omitted in translation. This is an effort clause (R12.2).

éEeoTL moLelv TOLS TOLAKOVTA O TL FOVAWVTAL.

It was possible for the Thirty to do whatever they wish.

Correct translation: It is possible for the Thirty to do whatever they wish.

Error: ¢€eomtis in the present tense, not a past tense

0 Kottiag &vopulev eiicog etvatl Oavatovv tooovToug.

Critias was thinking to be reasonable to put to death so many people.

Correct translation: Critias was thinking that it was reasonable to put to death so many
people.

Error: eikog eivail was translated literally rather than as part of an indirect statement
construction

éxetvor tov KaAA(Blov Oepamevovot maot Oegameia tva mavta €matvi).

Those men were flattering Callibios with every flattery so that he might agree to everything.
Correct translation: Those men are flattering/flatter Callibios with every flattery so that
he may/will agree to everything.

Error: Oegamevovot is in the present tense, not a past tense; ématvi) should be translated
as ‘may agree’ rather than ‘might agree’ since main verb is present



